USN 10AU62
Sixth Semester B.E. Degree Exam;i { on, June/July 2018
Automotive Tram%mlsswn
Time: 3 hrs. A -«“\» Max. Marks:100

Note: Answer FIVE\ t}lf&jhestwns, selecting
at least TWO @Hestmns Jfrom each part.

1 a. Explain the following terms:
(1) Gradability (ii) Tr,aémvtc effort (iii) Draw barpull (iv) Traction. (10 Marks)

b. Explain with graphs tk\e\va*r?ous resistances offered by a vehicle in moving condition.
{\\ \\\\\\\’ (10 Marks)
2 a. Describe the workmg of multiplate clutch with neat sketch. (10 Marks)

b. Determine th¢ ﬂS{Z‘e of the clutch plate suitable for a car employing a single plate type of
friction clu‘t&\ aﬁd developing 37.5 kW at 4200 rpm. The inside diameter of the clutch plate
is 0.6 tlﬂw?sqts outside diameter and it is to be ensured that even after a loss of 30% of the
englr(e\totque due to wear of the clutch facing, the clutch does not slip. The intensity of
pressure on the facing is not exceed 70 KPa. Assume p = 0.3. 1o Marksf)/bv)

. ("” )

\ ith the help of neat sketch discuss the working of sprag and roller type of over rlm@)g
elutch. (19, Miarks)

Lross lines on the remaining blank pages.

\ " With suitable sketch discuss the working of fluid coupling and also mention the<ag&fam‘<1ges
g (Cﬂf? Marks)
. Define torque converter. Explain the working of multistage torque conye@ with neat
sketch. ~50 (08 Marks)
AV b. Discuss the performance characteristic of torque converter with neat skefcl (06 Marks)
\E . c. Differentiate between fluid coupling and torque converter. v\; \\g/};}' (06 Marks)
- PART-B N
3 S a. Describe the working of a constant mesh gear box with the l’ge(ﬁ\‘o neat sketch. (10 Marks)
- b. Sketch a section through a sliding type gear box with fom:,f&rward and one reverse speeds
2z and explain clearly the different speed ratios will be obtaméd in the following cases:
% : Gear ratio ontop gear=1: 1 Geat} rauo on third gear = 1.38 : 1
g Gear ratio on second gear = 2. 74 Gear\latlo on First gear = 3.8 : 1
8 Gear ratio on reverse gear = 3.8 : e
5 Assume counter shaft or layout shaft speed\l\s half that of the engine speed and the smallest
% gt gear is not to have less than 15 teeth. \i\\? 3\ (10 Marks)
= -
S, 6 a. With the help of neat sketch explam the eplcychc gear train and also state the advantages.
2 SN (10 Marks)
2 b. An epicyclic gear consists of: fhme wheels A, B and C as shown in Fig. Q6 (b). Wheel A has
g ‘ 72 internal teeth and C hag. 3? external teeth. The wheel B gears with both A and C is carried
g . on an arm which rota;cs abgut the center of A at 18 rpm. If the wheel A is fixed, determine
i the speed of wheels, Bamd C. (10 Marks)
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10AU6.

Discuss the advantages and limitations of hydrostat&&riw systems. (08 Marks

What are the prmc1ples of hydrostatlc drlves? NS he (06 Marks
(06 Marks

o

(10 Marks
(10 Marks
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